
SAP ABAP table TIVA1 {Allocat.of rounding differences from incid.exp. sttlmnt}

TIVA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

RUNDGUV [CHAR (10)]

RUNDNK [CHAR (10)]

BUSCHL_H [CHAR (2)]

BUSCHL_S [CHAR (2)]

SKA1

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

SAKNR [CHAR (10)]

 TIVA1-RUNDGUV = SKA1-SAKNR 
0..N

1
 TIVA1-RUNDNK = SKA1-SAKNR 0..N

1

T000

MANDT [CLNT (3)]
 TIVA1-MANDT = T000-MANDT 

0..N

1

T004

MANDT [CLNT (3)]

KTOPL [CHAR (4)]

 TIVA1-KTOPL = T004-KTOPL 

0..N

1

TBSL

MANDT [CLNT (3)]

BSCHL [CHAR (2)]

 TIVA1-BUSCHL_H = TBSL-BSCHL 

0..N

0..N

 TIVA1-BUSCHL_S = TBSL-BSCHL 

0..N

0..N


